Section D
LIFTER UNIT

Wy




Oilless H Type Lifter

AHLS-GT-40 P14 hole .................. QD
M12 tapped hole ....(Q)
(bolt hole for prevention of fall when turning over a die)
“ 310
280+0.2
32 2-¢18
L
AN
46 o @ 5
M N ARl 3w
A _J/ UV L N~
A hal
41 \ 4-M12
57 ® M16
(tapped hole for lifting)
250
220+0.2
140
t i 2
Component ' I t 2
e) Y X o
—
No.| Description |Q'ty | Material Remarks \r\ ' ' v o1
. h ! ! -
1 | Lifter plate 1| Mild Steel | L[]-&- ’
2 | Cylinder plate 1| Mild Steel (0©) ! 'I l 25
3 | Guide holder 2 | FG260 Qilless type \ 2
4 | Guide pin 2 | Case Hardned Steel | HRC55~60 ~— 0
5 | Aircylinder 1 LDC4D 4o x st . | |
6 | Collar 1 Mild Steel (¢ 40)
7 | Spacer 1| Mild Steel | . Sl
8 | Hexnut 1 [ Std M20 // o70 >
9 | Unut 1 Std M20
10 | Unut 2 |std M24 00®
11 | Hex socket bolt 4 |Std M12 X 30 d
12_|_Flat washer 1_[ st For M20 o
13 | Spring washer 2 |Std For M24 ! D— |
Note : The cylinder inner diameter is @ 40 & type T
The actual output is appox. 600 X 0.7 =420 N @606 ]
at air pressure of 500 kPa #30 2-RCY%
Standard No Stroke A B Kg
: Weight
AHLS-GT-40X 50 50 142 130 13.0
AHLS-GT-40X 75 75 167 155 13.3
AHLS-GT-40X100 100 192 180 13.6
AHLS-GT-40X125 125 217 205 14.1
AHLS-GT-40X150 150 242 230 14.4
AHLS-GT-40X175 175 267 255 14.9
AHLS-GT-40X200 200 292 280 15.2
AHLS-GT-40X225 225 317 305 15.5
AHLS-GT-40X250 250 342 330 15.9
AHLS-GT-40X275 275 367 855} 16.2
AHLS-GT-40X300 300 392 380 16.5
‘p))) o)-15)=4-1\1c;| CATLOGNO. S
I CODE AHLS-GT-40 75

D-1

j i
Oilless




Oilless H Type Lifter

AHLS-GT-63 P14 hole ................ D
M12 tapped hole ....(2
(bolt hole for prevention of fall when turning over a die)

330
300+0.2
2-p18
1
Pk ¢
M é_ <l 3 o
L \')/4 Y g ©
- \NZS s
37 \ 4-M12
80 © M16
(tapped hole for lifting)
270
240+0.2

160 [

®\
. t [ | 3T,
omponen ° X Iq[y X o ©
] —
No.| Description |Q'ty | Material Remarks \I\ I Co i 2
1 | Lifter plate 1| Mild Steel [0/©) ! ! | < 25
2 | Cylinder plate 1| Mild Steel \ I o
3 | Guide holder 2 FG260 Qilless type . |
4 | Guide pin 2 | Case Hardned Steel | HRC55~60 |
5 | Air cylinder 1 LDCAD g3 x st o3|
6 | Collar 1 Mild Steel » o <
7 | Spacer 1 Mild Steel | a7g -
8 | Hexnut 1| std M20 ]
9 | Unut 1 |std M20 ®0o
10 | Unut 2 |std M24 L
11 | Hexsocketbolt | 4 | Std M12 X 30 « |
12 | Flat washer 1 _|std For M20 ! D—
13 | Spring washer 2 | st For M24
Note : The cylinder inner diameter is @ 63 & type T @OBD®
The actual output is appox. 1500 X 0.7 = 1050 N at air pressure of 500 kPa ®30 2-RC¥%
Kg
Standard No. Stroke A B Weight
AHLS-GT-63X 50 50 158 130 13.9
AHLS-GT-63X 75 75 183 155 14.2
AHLS-GT-63X100 100 208 180 14.7
AHLS-GT-63X125 125 233 205 15.6
AHLS-GT-63X150 150 258 230 16.8
AHLS-GT-63X175 175 283 255 18.3
AHLS-GT-63X200 200 308 280 17.5
AHLS-GT-63X225 225 333 305 19.0
AHLS-GT-63X250 250 358 330 19.4
AHLS-GT-63X275 275 383 355 19.8
AHLS-GT-63X300 300 408 380 20.1
‘p))) o):»)3:11\ e CATLOGNO. S
) CODE AHLS-GT-63 75

D-2

j i
Oilless




Oilless H Type Lifter

AHLS-GT-80 P14 hole ..................D
M12 tapped hole ....(Q
(bolt hole for prevention of fall when turning over a die)
\" 350
320+0.2
2-¢18
L
A
& D S o
o
] & ®
SA had
50 \_4&
101 ® ™16
(tapped hole for lifting)
290
260 +0.2
)
Component
No. Description |Q'ty | Material Remarks
1 | Lifter plate 1 Mild Steel |
2 | Cylinder plate 1 Mild Steel | |
3 [ Guide holder 2| FG260 Oilless type (¢80 ol <
4 | Guide pin 2 | Case Hardned Steel | HRC55~60 .+
5 | Air cylinder 1 LDC4D g0 x st / o70 L
6 | Collar 1 Mild Steel @O0
7_| Spacer 1 | Mild Steel %
8 | Hex nut 1 Std M24 |
9 | Unut 2 | Std M24 1
10 | Hex socketbolt | 4 | sStd M12 X 30 : D—
11 | Flat washer 1 Std For M24
12 | Spring washer 2 |Std For M24 0606
Note : The cylinder inner diameter is @ 80 & type T 30 2-RCY
The actual output is appox. 2250 X 0.7 = 1750 N at air pressure of 500 kPa
Kg
Standard No. Stroke A B Weight
AHLS-GT-80X 50 50 179 130 19.2
AHLS-GT-80X 75 75 204 155 19.5
AHLS-GT-80X100 100 229 180 20.0
AHLS-GT-80X125 125 254 205 20.6
AHLS-GT-80X150 150 279 230 21.1
AHLS-GT-80X175 175 304 255 215
AHLS-GT-80X200 200 329 280 22.2
AHLS-GT-80X225 225 354 305 22.9
AHLS-GT-80X250 250 379 330 23.6
AHLS-GT-80X275 275 404 355 24.3
AHLS-GT-80X300 300 429 380 25.1
(m)) o;b)=:1\[c) CATLOGNO. S
! CODE AHLS-GT-80 75
j i D-3
Oilless




Oilless Flange Lifter

ASKFL Component
Q L
B F
* J%m = 1 —
< 1 1 8 10
3 © —L_____@ [ M8 —>|.__.|||._
L N e 0)
) - &
I TTH
| \ I <
JNE|
[ _\ 2 ® Liftblock 2
-0.03 ASKFL -B
* D J05 NG
w \ @ Bae
2 @ Slide pin = ()
© I ASKFL - P D
A\
[\ 7 o117
0.015
Hole dia.¢>D+f"03/ 248" 1R
\ 2-913 P
28
q g /// @ Stopper
ASKFL - S
Component
No.,| Description | Q'ty | Material Remarks
1 | Slide pin FG260 Oilless type
2 | Stopper S45C Oilless type
2 Lift block S45C
Standard No. | ST| A B|[C|D E F |G H dJ K | L [#d
ASKFL-50X100| 50 | 110 | 75 |105| 50 |155| 19 [ 25 | 25 | 45 | 40 | 55| 33
ASKFL-60X150| 80 [160|105|155| 60 [230| 25 | 30 | 25 | 50 | 40 | 60| 43
ASKFL-75X200 [100[{200|125|195| 75 [280| 30 | 40 | 30 | 60 | 55 | 75| 53
Specifications
. Initial Final
Standard No. Spring Length| Load | Length| Load
mm N mm N
ASKFL-50X100 | AF30 X 175 155 160 105 580
ASKFL-60X150 | AF40 X 250 230 200 150 1020
ASKFL-75X200 | AF50 X 300 280 260 180 1600
|.))) o)-15)4-1\1c;| CATLOGNO. ST SPRING
‘- CODE ASKFL50 100  AF

D-4

Vi
Oilless




Oilless Flange Lifter

ASGFL M8 ‘ A ]

ST (stroke)
—
¢/
h___
_I
1
-
H @,
L2
L
m
(o)

REE . ANAL I EEE
o) N
/ #0. * - N
) o—1 I | =[%F|—
i 4
1121 RS
/ ® J 2-¢8 reamed
View A 2-¢d

7 7.7,

#D,
Hole diagpD *§03

Component

No.| Description | Q'ty | Material Remarks

1 Slide pin 1 FG260

2 Washer 1 S45C

3 Stopper 1 S45C Qilless type
Standard No. |#D| ST | L (¢D,/ L, (L, (A |B |E |F | G |H | J
ASGFL-65X 50| 50| 50 | 90 | 37 | 80 | 55 |[115[155| 25 | 39 | 40 | 20 | 68 | 25
ASGFL-80X 80 80 80 [140 53 125 | 85 [ 165|230 32 |49 | 49 |50 | 80| 30
ASGFL-80X120 120 [ 180 150 [ 125 [195 | 285

Standard No. | ?d | p |?Dw| Spring size Ini&ial Fi;}al

ASGFL-65X 50| 13 |48 | 63 |AF35X 175 | 224 784
ASGFL-80X 80 »18 |54 | 78 AF50 X 250 | 320 1600
ASGFL-80X120 AF50 X 300 | 200 1800

|-))) o):15)4-11\c;| CATLOGNO. ST SPRING
‘- CODE ASGFL80 120  AF

D-5

Vi
Oilless




Flange Lifter - Self-lube Base Mounting Type

ASOFLV 50 130 55
40
20 24125
(Dowel pin prepared hole)
B 2
@\
&)
N
o } 25| 28
10 60
Adjustment @
allowance _8 34 18 65
Il Table of Components =]
No| Dscription Qty |Material and Remark ~ Top dead T
" © - °
@ |Casig 1 | FG260 ‘é’g HEN 2 »
S20C = I ]
" =t Ei
@ SidePin ! with Graphite Bottom dead [T 'I + // N
certer [0 0\ I L] —t
O LitBlock ' | cas 8 | '|_ o /© @
-— | Sy S PR |
ois 1R [
Stopper 1 / ©
@ S Hardness HRC40 to 45 . | \\ ! e |
® | sping 1 |AF35-150 T ‘
. L 1 8 R
(® | Hexagon Socket Head Bolt | 2 | M12X40 I ® ® : | : |
(@ | Hexagon Socket Head Bolt | 1 | M8X20 0 RA0 l | ‘ .
Dowel Pin 2 | #8X30 95 #13
$20
Spring Mounting Final Travel
Outer Diameter (mm) | Free Length (mm) | Length (mm) | Initial Load (N)[ Length (mm) Maximum Load (N) (mm)
35 150 138 160 88 810 50

‘p))) 'o):10)=-4/\[c1| CATLOG NO. S
I o= ASOFLY 50

D-6

Vi
Oilless




Flange Lifter - Self-lube Base Mounting Type

ASOFLYV 80 10
- 58
25 35 2-¢12.5
4—\7/ ‘ (Dowe! pin prepared hole)
,/ ,\‘
.,
| — d Al
3| 8| -tH+— F 8| 8| 8
AN I 4
\ \\
X ]
oo —
|27.5| 28
I
10 75
Adjustment
allowance 5| |, 50 $70
H Table of Components I
No. Pscription Qty [Material and Remark 87 :1._
@ |Casing 1 | FG260 L @®®
Top dead ]
@ |sidePi ; S20C __center [ - ].
with Graphite a2 :h.o. il e
= © ! [ ] ||
@ |LitBiock ' |c45 8= 1 :|\'0': |\ E | 'i'
1 !
c45 ! / |- —
Stopper 1 = \
@|Som Hardness HRC40 to 45 Botiom dead i| sl /©
1
® |Sping 1 |AF40-250 : :| \/ |: qu?
1
(® [Hexagon Socket Head Bolt| 2 | M12X40 § :_E T /© © ==
- - 1
@ | Hexagon Socket Head Bolt | 1 | M8X20 " |' / <
Dovel Pin > | p8xa0 i | \ i 2 5
! ©
@® | LockPin 1| M.S. 0 / \| ! -
@ | Heragon Socket Head Bott | 1 [ m10x16 | | / | i
USRS
N T
R SRR T
i
45 R45
Spring Mounting Final Travel
Outer Diameter (mm) | Free Length (mm) | Length (mm) |Initial Load (N)| Length (mm) Maximum Load (N) (mm)
40 250 230 200 150 1020 80

‘-o)) S)-1s=-1\lc. CATLOGNO. S
J CODER Y0 80

D-7

Vi
Oilless




Flange Lifter - Side Mount Type

100
( h ASOFLH50
%
. J R
gl o
S| .-
10
Adjustment
allowance 8 $65
3 ) /@@ -
Top dead |
@5 center ode
3|z
° t 1 | . ‘
B’ndd'_:.\l.i & L
H Table of Components e ° CZ':tefa :| Y1/ T \
No.| Description Qty| Material and Remark . T
@ | asing " | Fc260 Wiwe /@ @
@ [ SidePin 1| S20C With Graphite ‘ \ ] 8 |
® | LiftBlock 1] c45 . ! a 3 3
@ | Stopper 1 | C45 Hardness HRC40 to 45 J/ \J ! E
® | Spring 1 | AF 35- 150 [ R P - . ©
® | Hexagon Socket Head Bolt 2 [ M12 X 40 f f
@ | Hexagon Socket Head Bolt 1 | M8 X 20 LL—I L‘«O.L_ 125 ﬁ
Dowel Pin 2 [ $8X30 {Dowel pin prepared hole)
Spring Mounting Final Travel
Outer Diameter (mm) | Free Length (mm) | Length (mm) Initial (N) Length (mm) Maximum Load (N) (mm)
35 150 138 160 88 810 50

‘p))) 'o):10)=-4/\[c1| CATLOG NO. S
! = ASOFLH 50

D-8

Vi
Oilless




Lifter - Embedded & FG260 Type

AFL

l 8l w =13
% 4 |—F
a 30
465 0015
MBDepthi\I AFLN
5 4 O
1] .+
|
]
’ . AFLT
/| :
: \\/ | 17 ’
/ m 2 N

7]

/
A ! \ b
| o */ \® . R
Table of Components 1 7/ I e |
P *Clearance for ; h 2-M8 Depth 20

No.| Description | Qty | Material and Remark Travel End ¢|
42
@ | SidePin 1 |FG260 With Graphite #65 +008
(Hole diameter)
@ | Stopper 1 Case Hardened Steel HRC58~
® | Co Spring 1 AF or AL40
Travel| L L1 For AF For AL
S L2 L3 | L2 L3
15 100 125 10
40 96 | 170 | 75 125 10 125 10
60 55 140 25
(Coil Spring Type AF40 (3Coil Spring Type AL40
Mounting Final Mounting Final
Treavel| Free Free
S Length |Length| Load(N) |Length | Load(N) |Length |Length| Load(N) | Length | Load(N)
15 150 | 121 485 735 150 121 1022 106 1551
40 175 146 415 106 988 175 146 876 106 2084
60 200 166 426 1178 200 181 502 121 2088

Catalog No. Tegvel ()]

Type
AFL LI
AFLN 40 AL
AFLT 60

‘m)) S --llc, CATLOGNO. S  Type
I CODERS YT 60 AL

D-9

Vi
Oilless




Lifter - Embedded And S45C Type

(— amm = ) AFLC .

- Ry
£ +=F
30
#6555
M8 Depth 55 AFLCN
— Y - ()
8 | | )
1 )
| i ©
M 1
© | =
77 |
-5 AR
5 |<
=16 [ /!
31 ]
n|E ‘ \ / ‘ |3 AFLCT
E | 3 ,
g Lo :
o
B IV ?
’ \
M Table of Components @ g i 0 {é \©
No.|Dscription |Qty| Material and Remark " Clearance for ‘ . 2-M8 Depth 20
Travel End I
@ | SlidePin 1 S45C  With Graphite HRC50~ $42
@ | Stopper 1 Case Hardened Steel HRC58~ 965 +8'03
® | CollSpring 1| AForAL40 (Hole diameter)
Travel H L L1 For AF For AL
S L2 L3 | L2 L3
40 75 125 10
96 | 170 125 10
60 55 140 25
oil Spring Type oil Spring Type AL
®3Coil Spring Type AF40 @Coil Spring Type AL40
Travel Mounting Final Mounting Final
L.f,r’ﬁﬁh Length| Load (N) | Length | Load (N) L(Fﬁr]egeth Length | Load (N) | Length | Load (N)
40 175 146 415 988 175 | 146 876 106 2084
160
60 200 166 426 1178 200 | 181 502 121 2088

Catalog No. |Teavel 6]
S Type
AFLC 40 AF
AFLCN p AL
AFLCT

‘m)) S --llc, CATLOGNO. S  Type
I CODERS YT 60 AL

D-10

Vi
Oilless




Lifter - Embedded And FG 260 Type

( \ AFLD 40
2501 |15
15
\ [V
l & — E 8 . S
> =
30 30
#6500 AFLDN
M8 Depth 55 :
a \ 1
) r
o4 Il i t—
5|8 \
4 |8 [\ | /]
8|8 : | ,
38 \ / AFLDT
33 , \|/ ‘ S
é /l\ -
[ee]
H Table of Components ’ /|N 2 ¥
’ \
No. |Dscription | Qty |Material and Remark : ' ' \\E/ \® N
o Di . . ’ *Clearance for 2-M8 Depth 20
@  |SlidePin 1 FG260 With Graphite Travel End
@  |Stopper 1 | Case Hardened Steel HRC58~ $42
® |coilSpring 1 |AF orAL40 #6503
(Hole diameter)
Trasvel H L L1 For AF For AL
L2 L3 L2 L3
80 65
90 | 120 | 200 | 55 155 10 205 60
100 45
3Coil Spring Type AF40 (3Coil Spring Type AL40
Teavel Mounting Final Mounting Final
Lreeh | Length| Load(N) | Length | Load(N) | Lovesh |Length | Load(N) | Length| Load(N)
80 210 401 260 705
90 250 | 220 301 130 1204 300 | 270 529 180 2114
100 230 201 280 352

Catalog No. |Teavel ©)

s | Type
AFLD & AF
AFLDN | o0 | 4F
AFLDT [~

‘-o)) -« CATLOGNO. S  Type
I COBERSINT) | 100 AL

D-11

Vi
Oilless




